KCSE 2017 JKIM JOINT EVALUTION TEST
Business paper 1
Attempt all questions in the space provided.

1 state four befits of advertising to customer. (4 marks)



6. What are the shortcomings of division of labour and specialization? (4marks)

10. Enter the following transactions in there relevant ledger accounts. (4 marks)
2012

September 1 Akinyi started business with Shs 125,000 cash

September 2 bought stock worth Shs 3,900 paid in cash

September 5 cash sales of Shs 2,100 paid by cheque.

September 7 deposited Shs 2,300 into the bank.

11. State four cause of high population growth rate in Kenya. (4 marks)






18. Fill the table by indicating the effect of the transaction as either increase or decrease. (5marks)

Transaction Assets liability Capital

Started business with Shs 2,000 in bank

Sold stock on credit

Paid creditors

Paid debtors

Rent received of Shs.200

19. State four factors to be considered before starting a business. (4 marks)

22. State four reasons why change in taste and preference of consumers would affect demand and
supply of that commodity. (4 marks)



23. State four types of utility. (4marks)

25. Identify the insurance terms described below (4 marks).

description Term

To transfer ownership of life policy to another person

Regular payments for insurance cover

Insuring same subject for the same risk with more than one insurance
company

Refund received on cancellation of life policy before maturity




